B Modular AL

METAL WALL PANEL SYSTEM

]

=

Ru

Ny
L

inning Bond

PRODUCT FEATURES

Flat ar tapered

Nao sealants
Concealed fasteners
Easy installation

Can be perforated

v v v VvV v v

Custom Sizes

MATERIALS
050 Aluminum
.063 Aluminum

080 Aluminum

Stacked

Mosaic

¥ 30-year finish warranty

Depth <
Range ‘.I
13/8-in. ‘\’
to 3-in. h’

» Made of 100% recycled aluminum

» Fuil fabrication package on all projects

» Weep holes for pressure and moisture venting

» Mix and match panel depths and sizes

» Stacked and running bond designs available

MAXIMUM DIMENSIONS
24-in. by 120-in.
24-in. by 120-in.

30-in. by 120-in.

Scan to view

AR model. Place
itin your space,
walk around it.

TESTING

» £283

» E331

» E330

» AAMA 508

- ,

| 24" 0.C.

/;

5[ 1 .42"—“

| 185" |

’ PAC-CLAD

Standard Sizes
Depth range
Joint range

Custom sizes

800 PAC CLAD | PAC-CLAD.COM

24" x 72", 24" x 120"
1 3/8-in. to 3-in.
1/2-in. to 1-in

Consult factory rep

©2022 Petersen Aluminum


hdavidson
Rectangle

hdavidson
Text Box
Panel #1
Color: Petersen Aluminum PAC CLAD – Berkshire Blue.

rwebb
Rectangle

rwebb
Rectangle

rwebb
Highlight


Modular AL
Panel Detail

i% PAC-CLAD

E T E R $ E N
4 (RETTYIETES conmman

NOTES;

« Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
» Hf Imperfections, Use High Impact Plastic Shims,

«» (Standard Wall Construction Deviation is Less Than 1/4" In 20°-0" In All Directions).

Section A-A

I Reveal

Aluminurn Extruded Metal
Panel Clip

\_3/4" Plywoed (min.)
ot Approved Wall Construction
Carfisle 705HT Air & Vapor
Barrier or Approved Equal
#12 x 1" Wafer Head Screw

Modular Metal Panel
— MadularAL Metal Panel

(1) #12x1" Stainless Steel
/ Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c,

/ J A
[ A" Reveal A \/ -

\

e

T
//

\\*ngh Impact Plastic Shim (as required)

\Modular Metal Panel

[T~ Carlisle 705HT Air & Vapar
Barrier or Approved Equal

\“-3/4" Plywood \bmm.

. or Approved Wall Construction
Section B-B
L.\ | /

JOB NAME NOTES

DATE

COMNTRACTOR
PAC-CLAD | PETERSEN 800-PAC-CLAR | PAC-CLAD.COM
HG: 10595 Tonne Road 2060 Junction Drive 10551 PAC Road ! 102 Morthpoint Parkway 1800 S, 7th Ave. Suite 130 l 1808 Station Parkway NW, Suite B

Annapolls Junetion, MD 20701 Tyler, TX 75707 L Acworth, GA 30102 Phoenix, AZ 86007 Andover, MN 54304

P 800-PAC-CLAD

Bk, Grove Vilage, Il 60007 |
i
F: §00-722-7150 |

P 800-344- 1400
Fi301-853-7627

P 800-44 (-8661
F: 903-591-8592

P 800-272-1482
F: 770-420-2833

P: 833-750-1935
F. 602-284-6504

P g7-571-2026
F. 866-801-2934




E

RPAL =0 LA

T

E R & E N

TSR onae ancs

Modular AL
Base Detail

NOTES:

« Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
» If Imperfections, Use High impact Plastic Shims.
«» {Standard Wall Construction Deviation is Less Than 1/4" In 20°-0" In All Directions).

1

1
b
1)
i
il
i
1]
1
1
)
1
1
)
1
I
1
1|
)
I
1
I
|
)
1|
|
o
i

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

i

L Typ, Panel Joint

3/4" Plywood Substrate (min.)
" o Approved Wall Construction

Carlisle 705 HT Air & Vapor
Barrier or Approved Equal
ModularAL Metal Panel

High Impact Plastic Shims (as required)
{Supplied by Cthers}

/Membrane Strip

/#12 x 1" Wafer Head Screw
/Starter Cleat

in

Ftof

Typical Gap

Base Trim
Caulk by Others

olor Side
Out
3"
Supplied w/ 5/
e 1= y
i

I——1 7/8"—]

AN

i Base Trim
1]
i Starter Cleat
g

JOB NAME NOTES

DATE

CONTRACTOR

PAC-CLAD | PETERSEN BOOPAC-CLAD | PAC-CLAR.COM

HE: 1005 Tonne Road

Elk Grove Village, 1L 80007
P BO0-RAC-CLAD
F:800-722-7150

9060 Junction Drive

Annapolis Junction, MD 20701

P: 800-244- 1400
F: 303-963- 7627

10861 PAC Road |
Tylar, TX 75707

F: 800-441-8661 |
Fr O03-581-0592 i

102 Northpoint Parkway
Acworth, GA 30102

P: 800-272-4482

F: 770-420-2533

1800 8. 7th Ave.. Suiie 130
Phoenix, AZ 85007

P: 833-760-193%

F: 602-254-6504

1885 Station Parkway MW, Suite B
Andover, MN 55304

P 877-571-2025

F: 866-201-2535




i PAC-CLAD Modular AL
PeT e R s &N Endwall Detail

o TR comoran

NOTES;

« Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction,
» I imperfections, Use High impact Plastic Shims,

= (Standard Wall Construction Deviation is Less Than 1/4” In 20'-0" In All Directions).

3/4" Plywood {min.)—/
or Approved Wall Construction
Carlisle 705 HT Air & Vapor
Barrier or Approved Equal
ModularAL Meta! Panel ' RN
. R
High Impact Plastic Shim (as required) _ / §§;§
g A
Membrane Strip 85

(Supplied by Others)

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels, Pop Rivet /
or VHB Tape Stiffener To Panel

J Channel
¥ Backer Rod and Sealant

Coler Side :l;,,
" ;-,; %nrﬁidﬂ i
Aluminum Panel =
J Channel Stiffener P

JOB NAME NOTES

DATE

CONTRACTOR

PAG-CLAD | PETERSEN 800-PAC-CLAD | PAC-GLAD.COM

HEX 10085 Tonne Road SDE0 Junction Drive 10851 PAC Road 1 102 Northpoint Parkway 1800 5. 7th Ave,, Suite 130 1885 Station Parkway NW, Suite B
Ells Crove Vidage, Ik 60007 Annapolis Junetion, MD 20701 Tylar, TX 75707 i Acworth, GA 30102 Phioenix, AZ 85007 Andover, MN 55304

P 300-PAC-CLAD I Pi800-344-1400 P: B00-44 1-H661 B B00-272-4482 F: 833-760-1938 P 877-571-2025

£ 800-722-7150 I F:301-883-7627 ¥ 903-601-8592 F770-120-2533 F: 602-264-6504 F:866-901-2935




% PAG-CLAD Modular AL
PETESR S BN Outside Corner Detail Option #2

» CETIETAT conrans

NOTES:

» Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction,
» If Imperfections, Use High Impact Plastic Shims.

= {Standard Wall Construction Deviation is Less Than 1/4” In 20°-0" in Al Directions).

|
E /3/4" Plywood {min.)
! or Approved Wall Construction
]
‘; Carlisle 705HT Air & Vi
rlisle ir & Vapor
i | Barrier or Approved Equal
|
|

i /ModularAL Metal Panel

i /Membrane Strip
/#12 x 1" Wafer Head Screw

Aluminum Stiffener for

Cut Metal Panels, Pop Rivet
or VHB Tape Stiffener To Panels

TI*__I -

Qutside Corner Post

218" [
13/8" — :
éu]:n :
Color{Slkle !
|2 178" |~ Gt i
e e 4 ;
134" ;
1u ]
' il
n
—-l 13/8 Coler Side
Qut
4t
Outside Corner Post
JOB NAME NOTES
DATE
CONTRACTOR
PAC-CLAD | PETERSEN 800-PAC-CLAD | PAC-CLAD.GOM
i !
H: 1005 Torme Road 8060 Junction Drive 10681 PAGRoad ) 102 Northpoint Parlway 1800 5, Hh Ave, Stite 130 1885 Station Parlway NW. Suite B
Eli Grave Village, IL 60007 Annapelis Junetion, MD 20701 Tyler. TX 75707 i Acworth, GA 30102 Phosnix, AZ B5007 Andover, MN 55304
P:800-PAC-CLAD i P 3G0-344-1400 i P 800-441-8661 1 PB00-272-4482 P: 833-750-1936 P 8Y7-571-2025
F B00-722-7160 i F301-968-7627 1 F: 303-6581-85%2 ' F770-420-2533 F. 602-254-8504 £ 866-901-2935




